A A 4 A



2A:
| ZH -
==

e

g g Al

CEHB . C(SIH) - NIRAIY - BES

Off &F o4

r<JEL
Ol &t

U RINY)

11,111,338
39,117
577,889
10,494,332

10,373,970

737,368

2,102,624

1,846,888

255,736

211,770

207,850

3,920

190,970

189,850

1,120

185,970

183,850

2,120

]
o
==

on

O

00

O

2o M A
4

09 00

©
0o

O
x

02 Jm opx Jd M 4

o

HO

©)
ﬂ
>
0
o

q
o

0
oy
==
=
0

o)
o
©
0H
HO
(=5

02

I

O3t
>
0
o
0¥
=
=
>

Sx22

0

76,650,000 + 14|
28,320,000 * 14!

500,000& *123]
1,000, 000& * 14!

2,000,000 *15]

72,000,000 * 14!

113,970
104,970
76,650
28,320
7,000
6,000
1,000

2,000
72,000

72,000

113,850

70,000

120

2,000

Jn

5,000

6,000

21,000

&Il 7l

5,000, 0003 * 14|

5,000

5,000

6,000

21,000

20,800

18,000

2,800

20,800

18,000

2,800

4

1,000, 000& * 14!

19,800, 000& * 14

1,000
1,000
19,800

19,800

18,000

1,000

1,800

1,262,584

1,071,815

190,769

I
o
o
40
02
>
Mo

02

30,000

20,000

10,000

ne
X
H0
0

30,000

20,000

10,000

o

wW
© O @

[

™od >
02

)
>
| =
é_l

0o

I
10
o
=]
o
2
tol
E0)

1%

>

10,000, 000& * 14

20,000, 0003 1

J

>

J

30,000
10,000
20,000

20,000

10,000

ikl
[0
O
o
o
H0
08
baa|

10

30,000

29,600

400

30,000

29,600

400

30,000

9,600

20,400

49~




A XX E 0

@ 2)|a NI XY
ool NP =25 (S5 &2
= = o= &
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
[ OX@ s0f2l @561 A& 30,000,008 ~121 30,000
SMETAY 2 1,131,430 981,850 149,580
201 LBt Y| 1,051,430 981,850 69,580
01 AbR2t2|H] 20,280 280 20,000
OSMEN2AEAs DY BAL
70,0002 %2 %23] 280
OXNY BM=XAY FF 20,000,000 14! 20,000
02 ZZ2YH| 22,000 21,000 1,000
OHWZEWATH Jte) 22,000,002 14! 22,000
04 HEHETREAIZZHI 1,009, 150 90,570 48,580
OXEY =XNHME 2% 1,009, 150,000 14! 1,009, 150
307 212401 & 80,000 0 80,000
VEEENEE 80,000 0 80,000
OMMEa & SES0 80,000,000 14! 80,000
Nel sHNY X 70,700 40,000 30,700
201 YEr2 Y| 700 0 700
01 AbR2t2IH] 700 0 700
OTLZQASTAAIARE LAY ALY
70,0002 x2 *53] 700
202 04 b 70,000 40,000 30,000
ECEET 20,000 10,000 10,000
ORHDE #A U 30| EA
20,000, 00021 *14! 20,000
04 = XI5 04 bl 50,000 30,000 20,000
YRS S Gfoloia U WX
50,000, 00021 *14! 50,000
2DHoFES B 454 365 89
309 HE3 454 365 89
02 2RI RTINS 454 365 89
CIIES=E=F 454,00021 14! 454
QINBE 2 197,710 191,663 6,047
AEE e 7,860 7,860 0
201 LBt Y| 7,860 7,860 0
01 AbR2t2IH] 7,860 7,860 0
OQIARIREl BASY 70,0002 %401+123] 3,360
OYBAIE HEDARSEY 100,000 521 x43] 2,000
CELLE-RTE 25,0002 +100¢! 2,500
£X 9 o2 e 189,850 183,803 6,047
101 Q124H| 68,200 52,000 16,200

—250—




HEPAPNE=ES T,
B 2|3 N2 X4
9 QANHE 2o SCRCE
o - PSEE
SA B SRA(EH) - MTAY - BAS e HIDE
04 JIZtN 22 NHEE2 =+ 68,200 52,000 16,200
OJIZHZ2Z2X &&= 25,000,000& * 14| 25,000
OUHels o1 1,800,000 »8H »3& 43,200
201 fet2 4| 49,600 30,000 19,600
01 AtR2telH 49,600 30,000 19,600
OLtARIHE A AEE A 40,000,000 14| 40,000
OWAZSRA % Xtz 800,000&*x1H =122 9,600
203 R =2l 48,000 45,000 3,000
03 Al =Y R T 48,000 45,000 3,000
Ozl L ZHFQAH FX
40,000,000 14| 40,000
Odd & oIgae] Al X
8,000,000& * 14 8,000
308 AXIEHHMSOIH 19,050 56,803 A37,753
1 SIS0 HetH & E IS AL 19,050 56,803 A37,753
OEE=XNLAANIZAAE RAE>
6,362,000& * 14! 6,362
OXMOH BEX LAY ZAALY DS
11,853,000& 14| 11,853
OHEXNLAANTEAAH AASHSK 2L
835,000& 14| 835
406 JIEXH=01 ™ 5,000 0 5,000
01 JIEFRH=OIH 5,000 0 5,000
OUASRA FHESS 5,000,000 x1& 5,000
o T4 403,000 368,000 35,000
2 ussd A 403,000 368,000 35,000
201 £et2E| 253,000 200,000 53,000
01 AtR2telH 250,000 200,000 50,000
OS2Rd WS A U=H|
100,000,000 * 14 100,000
oz MMus A3
150,000,000 14 150,000
03 A2 S H 3,000 0 3,000
oA AAA NHMLE A ZH
3,000,000& * 14! 3,000
202 044 150,000 168,000 18,000
01 =W oddl 50,000 68,000 18,000
OMIOILL & FA3E& A0
50,000, 0003 14| 50,000
05 sFd WFEHOYI 100,000 100,000 0
Ous &H404d 100,000,000 14 100,000
e 27,560 7,560 20,000

—251-




A XX

=EE %3:§O§§§$—IDI e
Sl x2e CEREE
SN B SA(EH) - MTAIY - B Of &t e HIDEY
LxEs NH 27,560 7,560 20,000
201 ZBt24] 27,560 7,560 20,000
01 At 2t2ld 7,560 7,560 0
O At2H =29 3,000,000& * 14 3,000
OL2RAMES = 3,600,000& * 14 3,600
O AHSRY - SRA) e 4l
8,000 «10E %128 960
03 A2 S| 20,000 0 20,000
O=23 Sttia 2 20,000,000& * 14| 20,000
XS Az Hst 1,990,810 2,124,782 A133,972
= 31,517
< 95,693
= 1,863,600
AHASAH Bd3t X 315,288 293,321 21,967
= 31,517
< 11,000
= 272,771
AHSAMUE 2E K& 196,484 177,589 18,895
307 212t01 A 196,484 177,589 18,895
03 elZtHMEE2SHIEx 196,484 177,589 18,895
OXHASAHIE Q121 141,544
OME=Z el 66,402
-JlEs 3,342,250 «12& 40,107
-4 1,152,500& 123 13,830
-EINNESs 373,500 x 12 4,482
-AHEE= 665,250 *12& 7,983
O & oA 57,038
-JlEs 2,928,040 «12& 35,137
-4 932,080 12 11,185
“EINNEs 321,670 12 3,861
-AHEE= 571, 1703 +12& 6,855
OZ0 elAbl 18,104
-4 645,880 x 12 »29! 15,502
-AHEEE 108,380 x 128 »29! 2,602
OXESAEE 22 54,940,000 + 14| 54,940
A2 S AL K& 33,770 33,770 0
307 212+l 33,770 33,770 0
02 QB AAIHE X 33,770 33,770 0
OXASAAHIE At X2 33,770
OX&SALA THE! 4,700,0003 14| 4,700
OXH&SALAL CHal JH=Z 5,320,000& * 14! 5,320

—252-




2K X
S A2ASA 45 X

2 (2ol He
- _ - &E
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
ONZSIE THFOIAE 1,000,000 +97F7 9,000
OXFZAR AZLSIS 1,650,002 14 1,650
OXHZAR 2SXE 3,500,000 %14 3,500
ORHEEAR & - 20N &A
1,800,0002!*14! 1,800
OXEZAR 2HE A X
7.000,0002!*14! 7,000
OXFZA 2HOIZAL KB 800,000 %14) 800
M2 S8 NFSAEY Ot HHlA IR (2D) 1,086 884 202
2 543
= 543
307 BI2+0I & 1,086 884 202
2 543
= 543
02 BIZAMALEE 1,086 884 202
OXAZAR BE2 XA 1,086,008 14! 1,086
2 543
= 543
=AM 2OUOIEAIS T8 - §4(22) 61,948 59,078 2,870
2 30,974
= 30,974
307 BI2+0I & 61,948 59,078 2,870
2 30,974
= 30,974
02 BIZAMALEE 61,948 59,078 2,870
OXRZAF ZCIUI0IEl KIE 30,974,002 20! 61,948
2 30,974
= 30,974
e EA a5 2T 22,000 22,000 0
< 11,000
= 11,000
307 BI2+0I & 22,000 22,000 0
= 11,000
= 11,000
02 BIZAMALEE 22,000 22,000 0
OAE A=A 2208 29
22,000, 0002 * 14! 22,000
< 11,000
2 11,000
|5 2st 352,640 445,546 A92,906
NZ24+Eols8 X2 12,000 9,000 3,000
201 Lere | 12,000 9,000 3,000
02 IS 12,000 9,000 3,000
CEENE RS E - E =
000, 0002 * 144 7,000

—253-




SA
X ZH .
(== I

EEE

- _ - &E
SA -3 HAGA) - HEAY - BES Ol & oK 'Oﬂ'@oEu Hws2
OLHECAZZ+E 3 FE2
3,000,000% * 14! 3,000
OS¥z YHsENEAs 2L
2,000,000% * 14! 2,000
A O 22 79,000 79,000 0
201 Ler2 | 79,000 79,000 0
01 At 22l 79,000 79,000 0
CEEXTRC TN 10,000,000 14! 10,000
OEI=JI % I S 7Y 10,000,000 14! 10,000
OABHA L OF R =T
50,000, 0002 * 14! 50,000
OR&A o Y2A 2HH  6,000,0008 14! 6,000
OBIFT L AW M 10, 00024 *3000K 3,000
gENE Sxze 260, 140 356,046 £95,906
201 L2t 59,640 63,846 £4,206
01 AR 2t2lH] 19,640 7,046 2,59
OJISSBIINOIE 42 70,000+201+33] 420
O™BBMACE +Y 70,0001 %321 %63] 1,260
OJI2 BEND HELHAE 7Y
43,0002 13| ¥157H 645
OS8 UHAMD HELRAE 7Y
43,0002 13| +257H 1,075
0JIS2 PEND L HHHD ASA4E 2
39,0002 +43] +400H 6,240
02 BEND AS L 2HHH 8
4,000,000% *13] 4,000
OSH RAND A5 L 2THIH 8
6,000,000% *13] 6.000
02 Izl 40,000 46,800 6,800
OJIZ HIBEND L H22ZEAD 285
ol RXRS 89 5,000,000% * 14! 5,000
OEEIIZVLIAILY SXB4 B
35,000,0002 * 144 35,000
207 1oLt 150,000 170,000 A20,000
NEEEETT 150,000 170,000 20,000
OZ2JI22 0/8 7% 8Y
50,000, 000! 14! 150,000
308 XHXIEHHISOI R 5,500 7,000 ~1,500
11 BSOS 24 X 9 AL 5,500 7,000 A1,500
OSRBDOIAIAE SERX22 A
5,500, 0002 * 14! 5,500
405 XtaH3 S| 45,000 115,200 AT70,200
01 MU SBHSH| 45,000 115,200 AT70,200

254~




M AHXSEED
HE: A A 23
cel: #FI|S 23 (eto): &2
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(2|)1|)'k"—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
OHZEIISZCIAIAE WAl 2lojdA 2
12,000, 0003 * 14 12,000
OBOILOI|ZR2IANAEY 25
33,000,000 14! 33,000
HEHY B8 =& 1,500 1,500 0
201 et gy| 1,500 1,500 0
01 At 22|l 1,500 1,500 0
ONEHY F8 T AR/
1,500,000 14! 1,500
Ngel X 89,486 86,940 2,546
< 2,366
i 87,120
oblz 4 2 Segges 28 X 81,600 75,600 6,000
201 LetEdy| 3,600 3,600 0
01 At 2teltl 3,600 3,600 0
Ot ZSUAIR A 29| 300,000 *12& 3,600
203 PR F2AY| 48,000 37,000 11,000
03 Al =X 2= XH| 48,000 37,000 11,000
ozz2gdge =& 48,000,000 14! 48,000
308 AtXIHHSOIA 30,000 35,000 A5,000
10 0bZsSdXAZ&EXR 30,000 35,000 A5,000
oudlz 4 XA 30,000, 000& *14] 30,000
o2 S&X& 7,886 11,340 A 3,454
< 2,366
s 5,520
403 XIS SAHE01H 7,886 11,340 A 3,454
< 2,366
s 5,520
03t =2sENANEEER 7,886 11,340 A 3,454
QU= LS XX 7,886,000 14! 7,886
< 2,366
s 5,520
HEGMM 2= 833,015 964,400 A 131,385
< 55,000
s 778,015
felz2elses =48 25,000 25,000 0
201 et Fy| 24,000 24,000 0
01 At 22|l 24,000 24,000 0
OEH3JI0tS 2EX& 4,000 30071 +23] 2,400
O NHaAx M2 B
18,000& 100128 21,600
202 04l 1,000 1,000 0

—255—




or
K
oF
ol

(@] (@] (e} (e} (e} (e} (e} (@] o (e} (e} (e} (e} (@] (@] Lo (e} (e}
o o o [« [« [«] — o o
< < < @ @ Q<22
Klo . . T
E
D
o o (] [} (] [} [} (@] (@) [} [} [} O o o O [} [}
(] (] o o o o o o o (=] (] (] — (=] (=]
< < < < < Cl<e|= < Ql<e|=
— ()] © O [eg] Ye) [ee] (e} O (@} ()] ()] [ee] O O
[Ye] [ep] [ep] [aN] — Al Al Al [a] — —
H3r o
ikEd
RIS
S 81888|8(8 2181|8 8 8 S 88 8188818 2881818 |8 S 8 8|88 814€181|8 8
S SlSeslg|e glglg e e S 5SS g|ge83le S 998 |Ia|5 5§ 8 &858 359 |S5|S o
— — o u<|o|o CSlom|lovw v o 0 ©® ©® ®| o \vw|lo cww|lol|l<s|o o < Y |o|lo o~ | oo l
al
<
=
W W W e
o] Ed T Ed T Ed By o} o<
e o o o o ¥ X S =) o
ol on m o on ot on < 3 I
o ! S S 8 S S = e S <8
X0 o S ) > S) 3 28 * 7 =8
& S s g S S s 0® o kS
. ol_O, < o < < wH < < a1 < { S <
a0 @% o||E% R 2 L|5 =k @ m|_ﬁ_m <& my ._A.onk
= _ = 1 o | K m _ ® KA
KJ — i Kl i (] - KJ
IF D < < K [ Rt [ — .
m _x_v _.Io - __|0M . HTM ™3 _._.__ _x_v - Jm
) o il S WO i Rl U 5 o+ e K
= o @ o 5 K B . S o m__A o o0 |
= o = 5 SEE R ki o & =
ol o - = =00 3 o3 g N — A o ! I+
o H oL - Z H 0 3 ar 20 of Y T 31 o
o = = AT a1 R 510N E0 | R T =l o - > =
& oF 30 n |5 0 < K R0 U X R m0|o < I z|o | & =R ] |z *
- = o Z | F0 10 Rl |0 MOk @ T Hom| W M al |8 |m ~ 30 R o ~ |y |8 | o
- = ol H |20 O S | B 60 RM #0 B o0 K| R = o | | o 0 <1 S 0| =|H|& R
" |5 m = Tl = A0 OO w1 OfR AR S N L S O = =, s <1 A
RO | © 70 ol |R © al |al © al © al al © flol|< O M o|s | oz < 0
. — 0 — | = [N N < N N == N ol | — K- | =
I+ K K )

—256—



SA

R 8 S
HE: A A 23
ool RHHEAMK 7 GRS
: - . YE]
SA - EHH . C(S) - MRAY - BAS Ofl &4 S HI DS
203 PR F2AY| 5,000 5,000 0
03 Al Z= 2= Y| 5,000 5,000 0
ORABHAREX 5,000,00024 %14} 5,000
301 LPBHD 29,830 29,830 0
03 2ol =2A YA BHI 29,830 29,830 0
OYADBAYN AYIILHANS X
15,000, 0003 * 14 15,000
OYUPIASLYN SATHS &It X2
5,000,0002 *14! 5,000
OYUPIASLYN MRS &It X
3,000,000& 14l 3,000
OYADOBAYN SHUELY L OFAEE X
6,830,000& 14! 6,830
307 QI2H0| & 246,005 228,780 17,315
02 IR F AR E 77,271 72,893 4,378
OB HRXIAHE A bl
15,450, 0003 » 14 15,450
OUEHSEAN 23|l AADES| A
14,910, 0003 » 14 14,910
OH2NREHUSATXIS ALY
10,543, 0002 * 14! 10,543
CEELT-PNEFE [ SR T
8,700,000& 14! 8,700
OEdAAADE ArSHI 5,510,000& 14! 5,510
OYYZTE I8l AFRIHI 8,400,000 14! 8,400
oHl2AAII 2SS ARl AL
9,408,0002 *14! 9,408
OLLTHZESR3 AtZHI 4,350,000 14! 4,350
03 QIZEHHMBEER2GHIEX 156,404 143,467 12,937
OMNUAT XIME S|
2,000,000% *14! 2,000
OY XTI At XIRAME 2| 10,000
OARHE el24d] 10,000
-Jl=g 4,476,000 14! 4,476
4013 4,959,00021 %14} 4,959
-4312 565, 00021 *14] 565
oH2AAII2SYURHE Ol 2|
7,351,000 14! 7,351
oHl2AAII RS LR E lE QY| 28,200
OAR2F 2121t 28,200
123 21,000,002 1! 21,000
-0z ¥ =Y 700,000& *42 | 2,800
-AH=2E 200,000+ 12& 2,400
N EEEE 2,000,000% *13] 2,000

—257-




INPNEES]
XY Ag 2at

2 &
. - - N
A -3 S9(30) - NISAY - B S HI DS
OXFsHYLe=z 29|
8,173,000 14} 8,173
ONmSHBLLZ =2 1Al 28,200
OARE el 28,200
-J23 21,000,000& 12! 21,000
-0 E 700,000& 42 7| 2,800
-EIANES 2,000,000 =14 2,000
AU EE 200,000 122 2,400
oL MOIE3l 2124 33,000
OAIR=& 212 33,000
-J23 21,000,000& = 1¢! 21,000
—dlsHrE 600,000 «12& 7,200
-EIANES 2,400,000 =14 2,400
-“4UES 200,000 x12& 2,400
OAAZMOISE 24| 8,500,000 14 8,500
oggzMezelsl 2l 4,200,000 *14] 4,200
oz Mezelsl el2y| 16,980
OazZad oAy 16,980
-J23 1,200,000& 123 14,400
-EIANES 100,000 x12& 1,200
AU EE 115,000 <122 1,380
Otl=EaseAzddTEH s Ay 4,800
OdEAE oA 4,800
-+=g 400,000« 12 4,800
Otl=EaseizddTE s 24
5,000,000 =14} 5,000
04 2IZHSHALALH &2 & 12,420 12,420 0
OHIZHAI| YR A2 YR A&
12,420,000 141 12,420
401 Al HIZL 20l 275,000 155,000 120,000
01 Al€Hdl 275,000 155,000 120,000
OUSIHA AL LAY AL AIRM S
250,000,000%14] 250,000
OUSHAIAL X FAE2A USHA AF
£l 25,000,000+ 14 25,000
IR AHEZ 5,950 5,950 0
201 2823yl 5,450 5,450 0
01 At=2t el 5,450 5,450 0
OYEAN 28 2= & &% WA
5,450,000 14} 5,450
202 (4l 500 500 0
01 =W OHI 500 500 0

—258—




FA XIS
HE: RABE A 23
ol DHY[AM 7S (chol: Mgl
o PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
OYHEAN =8 W=x & MiIL H4
50,0003 201 x53 500
gl -2 2 RAA FA 20,000 325,000 305,000
201 Zet=dhl 20,000 20,000 0
03 &A= S 20,000 20,000 0
O34 S S A 20,000, 0003 * 14| 20,000
SSCH D AIAIY KIS 8,840 8,840 0
201 £et2E| 2,840 2,840 0
01 At=2t el 2,840 2,840 0
OESEtH NEs| YA =X
1,000,000 =14 1,000
OZ&0 ANYESD =& 1,000,008 *14! 1,000
OZSTHH LATUSY LOUALIAIAY AR
= 70,000 *12& 840
202 044 1,000 1,000 0
01 =Woddl 1,000 1,000 0
OEEHH NgaldaIIAY =& 0
100, 0003 221 %53 1,000
301 Let2d3 4,000 4,000 0
09 HALAHIXIEAS 4,000 4,000 0
OEgttHl NEs| YA X3
4,000,000 =14 4,000
307 212tol A 1,000 1,000 0
06 28= 1,000 1,000 0
OSSELH DEBITAI| AIY BIIK 2EE
10,0002 *1002! 1,000
Eg0 HJH 23X 3,000 3,000 0
201 Zet=dhl 3,000 3,000 0
01 At 22l 2,000 2,000 0
Oz #H 224 2,000,000& * 14! 2,000
02 3323 1,000 1,000 0
Osgol g 35234 1,000,000 =14 1,000
oY =4 195,186 187,583 7,603
OLZ2HI0IE 29 177,186 169,583 7,603
101 14| 177,186 169,583 7,603
04 JIZtN 22 NS+ 177,186 169,583 7,603
OUHsH OtZHI0IE 124H] 177,186
OS A 2124 81,280 »3021+20& 48,768
O =5+ 73,2802 *302! x4 8,794
OsH 282 50,000 »30¢! 1,500

—259-




2 AXHE
M GEE A 2
chel: HOME ZA (o me
2 . . e
SN B G(EN) - MBEAY - BES S
OBHA elAt| 81,2802 x6021+20 97,536
O6tH =5 73,280 +60Q1 x4 17,588
OStH E8= 50,000& 602! 3,000
HYAMUIASE 2H 18,000 18,000
201 et g| 18,000 18,000
01 At 22|l 18,000 18,000
O#HHMHIAS 18,000
OFENZE 100, 000& = 15074 15,000
OZ 28X 3,000,000 1A 3,000
olgtdes X 142,574 94,544
& 25,920
o 116,654
oty s 24 105,544 94,544
201 LBr2Ed| 8,000 8,000
01 At 22|l 1,000 1,000
(©JUESESIPN B, 1,000, 000 =14 1,000
03 A2 F | 7,000 7,000
OYAR 01T 2Ly OtISEs AL
,000,000& =14 7,000
301 LetE8NZ 67,460 56,460
02 Zetadstka 11,000 10,000
OO0l ¥AH &tz 1,000,000& *11¢2! 11,000
09 HALAHIXIAZ 41,460 31,460
QoISE HEsl A
2,000,000 =14 2,000
OO0|& 9223 L 2lHY0eE g4 /35
ESga 7,460,000 * 14 7,460
OO0IER HRML EE3| B4
100,000& 102! *23] 2,000
O#=E 0IZYUSIIS I8 NH2H (01F) =
LHA = 30,000, 000& 14 30,000
12IIEt2 43 15,000 15,000 0
o0y AZZA K& 250,000 602! 15,000
307 QI2+0I A 30,084 30,084 0
02 QIRHE AAIHE X 5,000 5,000 0
OZRT 0lSE S0t3Usl &It
5,000,000 =14 5,000
04 QIZHSHALALH E X 20,000 20,000 0
OYUZ 0|HEH0IS S 20,000, 0002 =14 20,000
06 23 5,084 5,084 0
O0lH &dol28 = 41,0002 12421 5,084
ZRATE USYIANAH 2F 37,030 0 37,030

—260-




S A
PSP
C|—O| :

P = N
SA-BY.SASH) - RN - B S 2
= 25,920
i 11,110
307 212+ol 37,080 0 37,080
= 25,920
= 11,110
02 UABYAHE L 37,030 0 37,080
olisgda g5 =¥ 24,430,000 * 141 24,430
= 17,100
i 7,330
OZCIUIOIH =& 12,600,000 14| 12,600
= 8,820
i 3,780
MOFES X=X XI& 52,801 45,628 7,173
= 1,407
i 51,394
MOISXZX 25 K& 49,987 42,918 7,069
307 e1z2tol A 49,987 42,918 7,069
02 QItHAAMNHEE 45,895 38,826 7,069
OMOIS3l AtHI BX 45,895
O=sAgddUe 2,000,000 =14 2,000
ONESA DEF B Usia BrS)|
3,660,000 =14 3,660
OArgel ZE LI 7,206,000 « 14| 7,206
OMOtSel =21n=s 4,100,0003 14| 4,100
Ound & eldl 715,0002 =14 715
OLLZMOISXIZ A2l 6,580,000 * 14 6,580
O&= MOtSXIZ= X2l FIt
4,900,0003 14| 4,900
OZ2 T MOISXIZ=XtHEl ot
1,820,000& * 14! 1,820
OCE2t JtH &2t 1,654,000 =14 1,654
OMUOIENER, 2HE S A
7,960,0003 14| 7,960
OAtgel &8 otsD] 5,300,000% 14 5,300
06 28= 4,092 4,092 0
OMOISXIE X &fofl 282 31,0008 +132& 4,092
MOFSXEX |4 2,814 2,710 104
S 1,407
i 1,407
301 LBtENS 2,814 2,710 104
S 1,407
= 1,407
02 ¥et=dsti= 2,814 2,710 104
OMOISXIE A Xt Hets 2,814,000 *14] 2,814
S 1,407
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A REPAIN
X‘Iil—l: Il.ilo
&2l MOISXEX X

o - PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
[T = T.207
MRS =& 9,820 6,820 3,000
IS =& 9,820 6,820 3,000
201 Zet=dhl 4,820 4,820 0
01 At 22l 4,820 4,820 0
ORMMNSE RS &al 25
70,0003 %1321 %23 1,820
O+t NIHE &t 2tel 3,000,000 =14 3,000
202 044 2,000 2,000 0
01 =W oddl 2,000 2,000 0
OSEAMMZ L= 2= (bl
200,0002 x221%53] 2,000
303 &= 3,000 0 3,000
01 Z&at=s 3,000 0 3,000
O HIME <4 M2 Ald 3,000,000 *14] 3,000
=LHe NSEEs 2el 182,600 52,600 130,000
SHuE 29 34,000 26,000 8,000
=L KO J2 NI 34,000 26,000 8,000
201 fet2 4| 21,000 17,000 4,000
01 AtR2telH 13,000 13,000 0
OXHZE A ¥ RZIUF TAl nFg 23
13,000,0003 14 13,000
03 eAHZ S 8,000 4,000 4,000
O=Uuns A =&
1,000,000 80 = Al K D1 2 8,000
202 044 7,000 5,000 2,000
01 =W oddl 7,000 5,000 2,000
O=L NHZS & RSWJT TAl SSHAHEH
elE obl 100 000 *10€1 %43 4,000
odssokel 2HRE &= 0l
2,000,000& * 14! 2,000
oggds ?E 0l 1,000,000 =14 1,000
301 LBtENS 6,000 4,000 2,000
07 28I =0 bl 6,000 4,000 2,000
O=UHus g2t 38 100,000 302! %22 6,000
=HuE 29 148,600 26,600 122,000
o= XXMt s 84,600 26,600 58,000
201 fet2 4| 17,100 6,600 10,500
01 At=2t el 1,600 1,600 0
O=Muz & SSHl 100,000 ~42!x43] 1,600
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SA

M =L NF " 2el
@t ZHuE 249 (che &S
: 5 ; <fE
SA-BY.SASH) - RN - B ol &t S HIDE
02 3323 5,000 5,000 0
OXILXXEH 2HSAIE 2SS (UERI=Al
CXALE 23] 5,000,000& *12] 5,000
03 A2 S H 10,500 0 10,500
O=Hus A =& 2,000,000 *37H S Al 6,000
Ox=Ssd =717 25XNA  150,000& *302! 4,500
202 04l 2,500 0 2,500
01 =W oddl 2,500 0 2,500
O=Hus AHEE o1& Odl 2,500,000 *14] 2,500
203 A R=2H| 20,000 20,000 0
03 Al =AY RFH| 20,000 20,000 0
OAIZ & NFAY =& 20,000,0003 =14} 20,000
301 LBtENS 45,000 0 45,000
07 eI =& 0] 20,000 0 20,000
O=Hus g2t S8 20,000,0002 =141 20,000
12JIe2d= 25,000 0 25,000
O=NuFE 2200 U2
25,000,0003 =14 25,000
HadE ZHus 64,000 0 64,000
301 Let2d3 64,000 0 64,000
07 eI =& 0] 16,000 0 16,000
O EAEYUFH S8
200,000 4021 +23] 16,000
12JIEt2a= 48,000 0 48,000
OFAU (S, ISsd) 2eEY I ol
24 1,000,000& *2421 %13 24,000
OXSSM ZTDE oY
1,000,000& »242!x12] 24,000
=2l oo & g K& 917,731 1,201,254 A\283,523
S 9,400
= 908, 331
FAUXXHEH =2 264,400 233,600 30,800
& 9,400
= 255,000
FUXXHEE 2HAA 264,400 233,600 30,800
& 9,400
= 255,000
201 fet2E| 232,800 202,000 30,800
& 9,400
= 223,400
01 AtR2telH 202,000 170,000 32,000
O=UNXIHEH =S 202,000,000 * 14| 202,000
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2 AXHE

S =0 oo & & K&

o2 FUNXEH 29 (cHe-&3)
= X zH . Ol (S ALY . HAS2 ol dEE =p
Tkl o—|'|_'l‘|(21)")'k"—rA|'|=l'n_o—1 O:Hﬁﬁ O:H&.OH t”DLEI:I

02 222934l 5,000 5,000 0
OFCUXNXMEH MR ===
5,000,000 14 5,000
03 A2 ZH| 25,800 27,000 A 1,200
OLAT FOUXNXAS ASAFH(AAMHS) H
& 7,000,000 *14] 7,000
OZ& NXLH Mt EE23
10,000, 000& * 14! 10,000
= 5,000
= 5,000
OXNZEEA Zeldd HEES
4,400,000 *14] 4,400
& 2,200
= 2,200
OZ& XXAe 23t EE3| 4,400,000 14 4,400
& 2,200
= 2,200
202 (4 dI 1,400 1,400 0
01 =LHOAHI 1,400 1,400 0
O=QIXXIHE Etets AL oIE
100,000 & #7221 23| 1,400
301 et A= 17,200 17,200 0
09 HALAHIXIAZ 17,200 17,200 0
ON= 2+ FUNXIME AS
5,000,000 =14 5,000
OF2UXXME 2+30tel SZAUE 2Ot
5,000,000 =14 5,000
Obist2l= =0IXX &g &It
5,000,000 14 5,000
OLAT FOUXNXAA ASAJH(AAMHS) H
& 20,0002 110 2,200
307 QI2+0I A 13,000 13,000 0
04 DI2FEHALALR B T 13,000 13,000 0
O FRUNXME Tz 02 ZAHUS
13,000, 000& * 14! 13,000
FUSKAIE 2922 314,431 648,754 A334,323
SE=Xza 2922 219,431 318,754 A99,323
401 AIEHI L 20HYI 110,000 0 110,000
01 A&l 110,000 0 110,000
O&MLE ZE=ENSA(ZZL) AS2X 04
= 40,000, 0002 * 14! 40,000
Okstel ZE=XSH(BZ2Y) A2 HY
70,000, 000 * 14 70,000
402 QI+ X201 109,431 318,754 A209,323
01 QIZEXH2AISE 2 = (REXI KH &) 109, 431 318,754 A209,323

—264-




A XX D
mm: F0l a0 F g4 KR
ool FOI=TAM gL EEERED
x 5 o [T
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
Oulz ze=xs@ a5+
5,000, 000& *53|*80/100 20,000
ouzel Ze=NI 24
14,883, 0002 +80/ 100 1,907
ostYel ZE=NE2 Ba
8,629,000 *80/100 6,904
oz+He FF=NY 24
4,097,000& «80/100 3,278
o=l ZHENIB 24
4,000, 000280/ 100 3,200
oLZal H=NID B4
50,397,000 »80/ 100 40,318
o= E=NE2 24
29,780, 000280/ 100 23,824
OIS CHe] U SAL 84X 9 22 56,000 330,000 A 274,000
201 2Bt2 Y] 6,000 0 6,000
2 ZZ2Y| 6,000 0 6,000
OMUYSAL 2Y BB U
500,000 x12& 6,000
401 Al HI L 20| 50,000 330,000 A 280,000
01 Al&tti 50,000 330,000 280,000
ONISE HHYBAL 213 24
5,000, 0002 * 107} 50,000
FLEXAIE =8 SZHHIAMY 39,000 0 39,000
401 Al HI L 20| 39,000 0 39,000
01 AI&HI 39,000 0 39,000
OSYal FOUSTAIL =8 A AL
30,000, 0002 14} 30,000
oNZTel FUSTAL =¥ BBBHAY
9,000,000& * 14! 9,000
orsctie orsetsJl N 338,900 318,900 20,000
OIS SHSII (M EALY) 318,900 318,900 0
201 LEH2 & 11,900 11,900 0
01 AL 22t 1,900 11,900 0
OYYR O2USI| SRS AALY
100, 00024 *32 33! 900
OOIECIZ DI2RHED| Al A4S Xa
200,000& x2001 2 *23] 8,000
OOISCIZ DI22ED| Al B2 L 29X
3,000,002 *14! 3,000
301 YBHBH B 7,000 7,000 0
12 JlEr2 a2 7,000 7,000 0
OOIELIZ DISSI| A 4012 EA 7,000
Ozl 3,000,000 * 190 2 3,000




2 AXHE
X zH: =0| |
(==l I

=0l a0l & grat X2
Sl OISCHe DH22HSD| X9 CEREE
- _ - &
SN B CR(BH) - MRAY - BES 0l et S HRE2
= 2,000,000 *1JH 2~ 2,000
ozd 1,000, 000& 201 2 2,000
307 SI2toI & 300,000 300,000 0
02 QIZtAAMAIHE X 300,000 300,000 0
OOISU2 0IS2SIl ALY X&
20,000,000 *15JH 2 300,000
ot 2tE20Y 2F 20,000 0 20,000
301 LB F 20,000 0 20,000
09 HALAHIXIAZ 20,000 0 20,000
OFsEA EIMA Sz 200,000& = 1003 20,000
=70t.= 55 U= 5 2,022,611 1,938,235 89,376
= 7,600
L= 448,073
i 1,566,938
R0b.=.58 =5 &3 2,022,611 1,933,235 89,376
= 7,600
L= 448,073
i 1,566,938
I (r.=.88) 1L 915,825 920, 181 A4,356
201 LBr2Fd| 3,500 3,500 0
01 AL 22l bl 3,500 3,500 0
OStIZAMOIR5 2 70,0008 *1021%53] 3,500
202 04| 2,000 2,000 0
01 =L YI 2,000 2,000 0
OusEXa HF =& 0l
100,000& 221 102] 2,000
308 AtXIHHSOIA 910,325 914,681 24,356
07 MXISHM2t 2L 2 44,39 42,285 2,110
OAN2UDAL X&AAS 29,325,000 =14 29,325
OZ1w AUM DEXJHAS
15,069, 6003 * 14! 15,070
08 WEI|2UHUEEER 750,000 750,000 0
Oows3ddl XA 750,000,000 14 750,000
QA -7 WSHSEEIH HIEEES 115,930 122,396 N6,466
01N s X 115,930,000& 14! 115,930
LAHIWEAF 29 200,000 200,000 0
201 LBr2Fd| 80,000 2,000 78,000
03 EAH2ZH| 80,000 0 80,000
O3 Y FAEY 50,000, 0002 14 50,000
ONMEW= 30,000,000 14! 30,000
308 AtXIHHSOIA 120,000 150,000 230,000
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SA

ol
=
2

XHX 8 2t
N
ool 20hx. 55 uS=K 25 e
= — — A L5
SH-BY . S(BH) - NRAY - BAS 01l &2 e HmZ2
08 WEI|IZUHEEE 120,000 150,000 230,000
oxgA=N=EXF 24 90,000,000& * 14! 90,000
Oo#MEAME Sotel 30,000,000& * 14! 30,000
s&E Stuga 2 332 891,586 800,054 91,532
=S 445,793
s 445,793
308 XX MSOIS 891,586 800,054 91,5632
=S 445,793
= 445,793
08 W=J|2H0CHet2 & 891,586 800,054 91,5632
ozl sugal K& 819,200, 000& 14! 819,200
=S 409,600
s 409,600
OB (24) 42 ADI4 X
72,386,000 * 14! 72,386
=S 36,193
s 36,193
TSSSTUE WA N ABAY 15,200 13,000 2,200
= 7,600
< 2,280
= 5,320
307 2I2t0l & 15,200 13,000 2,200
= 7,600
< 2,280
= 5,320
02 2I2ZtA AL E £ 15,200 13,000 2,200
OZSSZRA DAL N Al
15,200, 0003 * 14! 15,200
= 7,600
< 2,280
= 5,320
el y = 77,000 77,000 0
el & 77,000 77,000 0
oISl Al 77,000 77,000 0
202 04l 1,000 1,000 0
01 =LHOHI 1,000 1,000 0
Oel2EM HASFA 04l 100,000& 22! %53] 1,000
301 LEIENZ 76,000 76,000 0
RIIBENS 76,000 76,000 0
OFAMI 2T BE N
16,000, 0003 * 141 16,000
OXYMNU &352 M3 50,000& *1,2000H 60,000
s U=l &3 567,500 321,500 246,000
s Ws=sX 85 567,500 321,500 246,000
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FA XIS
Hu: DS DK=L 2=
o NS s 25 (che &S
M L5
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
A ellss 567,500 321,500 246,000
201 £et2E| 11,500 11,500 0
01 At 2t2ld 1,500 1,500 0
OXNdoIsEs 23 1,500,000 =14 1,500
03 A2 S H 10,000 10,000 0
OZ2U NSt st AIE2E3 KAl
10,000,000 14| 10,000
306 EH= 546,000 300,000 246,000
01 £¢= 546,000 300,000 246,000
OYYRAMS LIS 513
546,000,000& * 14! 546,000
308 AXIEHHMSOIH 10,000 10,000 0
07 XXM RE = 10,000 10,000 0
ORNXEHE = et &3 N
10,000, 0002 14| 10,000
8 dael 981,705 110,351 871,354
S 20,127
= 961,578
[2eH 2t 981,705 110,351 871,354
S 20,127
= 961,578
dAge =4 981,705 110,351 871,354
S 20,127
= 961,578
201 Zet=dhl 16,190 0 16,190
< 10,794
= 5,396
01 At2te|H] 15,820 0 15,820
OHM8al d=SAXLEH X
15,820,000& 14| 15,820
< 10,547
= 5,273
02 s5=3H 370 0 370
OHMB8al d=2SAIXLELH K& 370,0003 14! 370
S 247
= 123
202 044 12,000 0 12,000
S 8,000
= 4,000
01 =W OHI 12,000 0 12,000
Ol M=SAINSEHN X
12,000,000& 14| 12,000
< 8,000
= 4,000
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SA

7(‘| il—l:

INFNR=ES I
=3 doiztel

el XgAH 2tel (el &
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
203 A R=2H| 2,000 0 2,000
S 1,333
i 667
03 Al =AY RFH| 2,000 0 2,000
ONBsl d=SAMXLLHN K&
2,000,000 =14 2,000
& 1,333
= 667
308 AXIEHHMSOIH 951,515 110,351 841,164
12JIeRg= 951,515 110,351 841,164
Ozl M=SAINSEHN XA
951,515,000& * 14! 951,515
235 dEAMHIA WS 498,273 672,720 AT4, 447
FEANAHE 2 354,715 307,936 46,779
JE2AAH RA2+ 233,393 197,800 35,593
201 £et2E| 233,393 197,800 35,593
01 Ab=2t el 20,000 10,000 10,000
Odutal ARY B2F 7Y 250,000 404 10,000
OupPs =X F(LH) 250,000 404 10,000
02 3323 213,393 187,800 25,593
oYY FAHH SB RN+
195,000,000 14 195,000
Osgz00 Z20d RAEs E4H|
24.,873,000&+0. 14%1.1 3,831
OFBSAA g2as)| N2 87|
39,377,000 +0.08+1.1 3,466
OFESMY REMMYEI(UPS) RAEx &
Sha] 69,084,000 +0.08+1. 1 6,080
ozl & RAE+ S|
38,000,000& +0. 12%1.1 5,016
J2AAH 2529 111,322 110,136 1,186
308 AHXIEHHMSOI S 111,322 110,136 1,186
1 SIS0 HetH & E IS AL 111,322 110,136 1,186
OSLIIAY 29 L AN e
19,248,000 =14 19,248
083718t & MallsT7AIAE 22 A
85 514,000& 14| 85,514
OBVESHHSANALY NLHE 2 9l
6,560,000& * 14! 6,560
2Lt oA 2 SH 2Nl 7= 10,000 0 10,000
405 Kok S4| 10,000 0 10,000
01 MM =S FSH 10,000 0 10,000
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2AM: AXEE L
MM N bS
CHel: AEA

A 29 (el &2
- - - bS]
2AH -3 ..SA(ZAH) - HIRAIS - BHAES Ofl AFoH om'&% Hunsz2
o2uet ¢ 2L =H BortdH IR
10,000, 000 14! 10,000
HNE g0t 235 66,058 36,398 29,660
MOINE BS54 sHat 50,171 3,320 46,851
201 L2 9| 2,000 2,000 0
01 AL 22| H| 2,000 2,000 0
ONMOINBES =5 2,000,000 14l 2,000
202 04| 200 0 200
01 2LH0ibl 200 0 200
OMOINBES Ze|AEl B ol
20,000+2% *53] 200
301 LUBEAZ 1,320 1,320 0
12 JIEtB A2 1,320 1,320 0
OMOEEBES 1S 2AHl 1,320,000 14! 1,320
405 XHoaHE SH| 46,651 0 46,651
01 ALY 2 EF SH] 46,651 0 46,651
OMOINBES 246 1 46,400,000 * 1Al 46,400
OES=E =] 46,400,000 *0.54% 251
HOIEE &0/ AIAE M DA 15,887 19,505 A3,618
405 XHoaHE SH| 15,887 0 15,887
01 ALY 2 EF SH] 15,887 0 15,887
OMABEEZZ0|SAAL M BH(FY)
12,300,000 = 1CH 12,300
OMOIBBHE=0|RAI A HERX R2¢
440,000 8K 3,520
CEN=E =] 12,300, 0002 *0 . 54% 67
HBAAE OIEA 235} 34,200 185,256 A151,056
Qg BotAX| - SEH| nil 34,200 168,063 133,863
405 XHAHE S| 34,200 168,063 133,863
01 X2 S EF SH 34,200 168,063 A 133,863
odYse Hx 2 34,000, 0002 *1A! 34,000
OES=Et=] 200,000 14! 200
MHIA M2 43,300 93,300 250,000
HE ESHOIX XSS 43,300 31,300 12,000
201 L2 9| 43,300 31,300 12,000
01 AL 22| H| 20,000 8,000 12,000
Oo=E= X2 ¥ DEFH
20,000, 0002 14! 20,000
02 =223 H 23,300 23,300 0
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SA
X ZH .
(== I

EEE

INFNR=ES I
=23 dFMHIA WS
AMHIA MBS

SA SR (S) - MRAY - BAS il &t e RS2
O#E SHOIX |RANE> S|
20,000, 0002 =14 20,000
O™¥d ZHOIX =elEMHIA Ol8=2
3,300, 000 * 14! 3,300
23 g 25t 489,885 808,344 A 318,459
23t HREF A 327,365 452,718 A 125,353
Dz0d 23 106, 862 108,885 N2,023
201 et gy| 106, 862 108,885 N2,023
01 At 22|l 106, 862 108,885 A2,023
OHFARE HZ S/ & 106,288
OstA I A 2020 105, 0002 *2004 21,000
OMNS 0ffice 2019 247,500 1854 45,788
OLEEX SHEHH 30, 0002 *500H 15,000
oge A 300,000 & =104 3,000
OAutoCAD 2021 2,500,000 *5H 12,500
(OAdobe Creative Cloud 1,200,000 54 6,000
(OAdobe photoshop CC 600, 0002 *5JH 3,000
OxE=x=2 106,287 ,500& *0.54% 574
UEE PC 25 174,413 206,553 232,140
201 L2 F Y| 4,500 10,500 26,000
01 At 2teltl 4,500 10,500 26,000
OZF1PC E= Mg 150,000 *30CH 4,500
405 KHAHF SHI 169,913 196,053 A26,140
01 Xt 2SFHSHI 169,913 196,053 A26,140
OYREPC 7+ 1,300,000 = 130CH 169,000
OEN = = 169,000, 000 *0.54% 913
PP PC RAES 46,090 46,090 0
201 et Fy| 46,090 46,090 0
02 2322l 46,090 46,090 0
OYREPC FANESF EH 46,090, 000& *14] 46,090
HWESZ Jlgt 235t 162,520 355,626 A 193,106
HESD KA+ 49,301 38,400 10,901
201 L2 Y| 49,301 38,400 10,901
02 5223l 49,301 38,400 10,901
OUEHIAEH KRS+ 2
36,286,000 =14 36,286
OUERD 2S3EH RA24 29
13,015,000 * 14! 13,015
=& HIERZA A%IX &4 50,250 127,385 AT7,135
405 KpAHFE S 50,250 127,385 AT7,135
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SN RXIBE D
M N
chel: WIESIT Ol 23

= i N
SA-BY.SASH) - RN - B ol &t S HIDE
01 A =EFSH 50,250 127,385 ATT7,135
OL2 22Xl 7 (24port) 4,998,000 10CH 49,980
oxgr+g 49,980,000 *0.54% 270
SHALA UWERD AKX S4 50,250 50,250 0
405 Aok S| 50,250 50,250 0
01 A =EFSH 50,250 50,250 0
OL2 22Xl 7 (24port) 4,998,000 = 10CH 49,980
oxgr+g 49,980,000 *0.54% 270
St EoAAE X 12,719 0 12,719
405 Aok S| 12,719 0 12,719
01 A =EFSH 12,719 0 12,719
OSSLVPNE X 7 & 9,900,000 * 14 9,900
OSSLVPN ctoldlA g 55,0002 507 X 2,750
oxgr+g 12,650,000& +0.54% 69
=235 A& 92,644 123,908 A31,264
S 4,596
i 88,048
=0l H=35 K& 70,644 107,908 A37,264
S 4,596
= 66,048
=230t 24 11,900 15,400 A3,500
201 223yl 8,400 8,400 0
01 At=2t el 1,000 1,000 0
Od=2slls AAMEHN FEA SIS
1,000,000& * 14! 1,000
02 s5=3H 7,400 7,400 0
Od=3atil= SHO0IX 2& 7,400,000 *14] 7,400
202 (4l 2,000 2,000 0
01 =W oLl 2,000 2,000 0
OXNSEE3 R 0
100,000 x2& *102] 2,000
301 LBtENS 1,500 5,000 A3,500
09 AL HIXI &S 1,500 5,000 A3,500
OZ=230ts A& . 8AM & T B4
100,000 *3& x53 1,500
FEsi0s =gzt |4 29,414 30,192 NTT78
& 4,596
= 24,818
307 212+l 29,414 30,192 NTT78
S 4,596
= 24,818
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A REXIE A Dt
I HE35 X
chtel: 2ol H235 KR (che &S
= e &
SH-3H.S4A(S) - HIRAY - BAS Ol &4 'Oﬂ'&oEu Hlus2
02 QIZtBAAIEE X 29,414 30,192 ANTT8
OX=L30IS T2 NSHARIN 4
14,707 ,000& 20! 29,414
(= 4,59
i 24,818
B0t T2 22N S (KHA) 3,830 3,700 130
307 2I12t0I A 3,830 3,700 130
02 LIZHFMAHE XS 3,830 3,700 130
OFB30tE T2 )2 X S5 (EE2)
1,915,000 «2Y 3,830
FESNSE 2Y 25,500 15,616 9,884
201 L2 Y| 4,000 5,616 A1,616
01 At 2teltl 4,000 5,616 A1,616
OFESNRE A2 72 2,000,000 14! 2,000
OFESNEE =8I gz
2,000,000 =14 2,000
301 LRENZ 20,000 10,000 10,000
12 JIEt2 &3 20,000 10,000 10,000
OTUHEES NS 2AH 10,000, 000& x2H 20,000
405 KHEHF SHI 1,500 0 1,500
01 Xt 2 SFHSHI 1,500 0 1,500
OFESNEE AHA o P2
1,500, 000 * 14! 1,500
25 M AR 22,000 16,000 6,000
SlHIOIE 24 22,000 0 22,000
207 A =20H 22,000 0 22,000
01 A7 E | 22,000 0 22,000
ogdold 24 89 22,000,000 =14 22,000
FESH olZetE s 588,309 553,568 34,741
FESH JIBAIE 22 588,309 553,568 34,741
FESHY 2F 2] 423,372 553,568 A 130,196
201 L2 F Y| 393,372 427,868 A34,496
01 AtR2teltl 5,000 5,000 0
oSt A2HRE L XM 2L
100, 000:& *500H4 5,000
02 2322l 388,372 422,868 A34,496
OUI0IH s4Y 3= 242,880,000 14 242,880
oOsdsMY dz 114,800,0002 14 114,800
O33wifi sldZ 33,000& *27H A+ 1201 & 10,692
OFUNIZHAHE MHIA ALEZ
10,000,000& 14 10,000
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SA
X ZH .
(== I

EEE

INFNR=ES I
FESA QA ZetEs
2SS4 JIEAE 29

- _ - &E
SA-F3H - SA(ZA) - HRAY - BES Off &F o4 'Oﬂ'@oEu Hws2
CERFTEEEIEENED
10,000, 00024 14! 10,000
401 Al HI L2 CH] 30,000 30,000 0
01 AIZHI 30,000 30,000 0
OPUSAE 4,54 30,000,000 14! 30,000
HRSUAAY XS4 69, 155 0 69, 155
201 LBttt 69, 155 0 69,155
02 ZT2YH| 69, 155 0 69, 155
OHHFSAALY RN 24 S|
21,900,002 * 1 21,900
OPUSUEZ RN24 S|
22,000,002+ 1 22,000
OY I AE RN 24 S|
4,558,002+ 1 4,558
OIPYANYBAAY RN 24 Bt
20,697,002 * 1 20,607
BHHS AL PH 95,782 0 9,782
201 LBt 7,700 0 7,700
01 At 22l 7,700 0 7,700
om&d| gIalols 7,700,00024 %14} 7,700
405 K&t St 88,082 0 88,082
01 XML S ZF S| 88,082 0 88,082
OQAE WS 2Y 660, 0002 *24CH 15,840
OQEIWHSI| 2tolMA T
117, 700214502 X 5,885
O, =HAIALY DY 66,000,000 14! 66,000
OE =R 66,000,000% 0. 54% 357
HH2ABH(HX B I D) 599,646 547,820 51,826
ol 2| (LUR) 63,000 66,000 A3,000
ol 2ot (L U) 63,000 66,000 A3,000
101 1214 53,000 66,000 13,000
02 JIEE 24 1,800 1,800 0
OFIAE SHALATY 60,0002 %30 1,800
03 BRH(RIHY)22X24 51,200 64,200 ~13,000
0T KRS 20,000, 00024 #25] 40,000
0TI HSHA 10,000, 000! 14! 10,000
OB SHABATH| 60,0002 *20% 1,200
202 01| 10,000 0 10,000
NENEL 10,000 0 10,000
022 oft 10,000, 000! 14! 10,000
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FA XIS
M AY2ITH(ANXBEH DY)
el A2 (KXI#HE ) (ctel: &
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
ol 2SI (KX M) 235,842 207,002 28,840
ol (KX E M) 235,842 207,002 28,840
101 14| 235,842 207,002 28,840
012+ 210,450 181,444 29,006
oxzul=22=+¢ 171,722
Oozz2e=+g 10,8412 +29H x480 Al 2t 150,907
OHIAMgR = 10,8413 x2H x960 Al 2+ 20,815
OXI XM AL F =S 16,549
OAlZtl=2(Soeta S LA NEH A2 R
) 12,1242 x 18 +852A| 2+ 10,330
OOII A (SHOUAASYRIME THA2LK)
4,0413~1Z960A 2t 3,880
OB Y4 (SHAMSUXHME TA2DK)
97,4583 x1H 24 2,339
OMAZ LI AIZHA=L(MSAl 12, 2
2¢1) 12,1243 »3H »480 Al 2+ 17,459
OIAZ R A= (AHAHAI)
9,832 x 12 ~480Al 2t 4,720
03 SRA(RINHA) 22X+ 25,392 25,558 N 166
© B2& Al 25,392
OAlt2l =& (L4 oty)
15,8933 2 »360AI 2tx1.5 17,165
OAlZt=Z (nEAR)
15,6732 x22 «120A12tx1.5 5,643
OANZe+=Z(FESHPREX)
14,3532 x1H*120A1 2t1.5 2,584
J2ZHI (KX H D) 300,804 274,818 25,986
Jl=2Zdl (KX E D) 300,804 274,818 25,986
201 fet2E| 114,464 103,348 11,116
01 AtR2telH 54,464 51,348 3,116
oget=ZH| 31,120,000 + 14| 31,120
o=gtl 11,424,0003 14| 11,424
©)=DNJ= 10,920,000 14 10,920
OZ2E I=H) (L2 o)
500,000 x221%13] 1,000
02 3323 60,000 52,000 8,000
osE2= & HMA 60,000,0003 14 60,000
202 (4l 41,840 34,600 7,240
01 =W OHI 41,840 34,600 7,240
OgR=& JI=20Hl 40,400,0002 =141 40,400
0324 ol 120,000 x121%123 1,440
203 R =2yl 144,500 136,870 7,630
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FA XIS
I BIY2AJH(NRIBF D)
& D=3 (MHXI#E D) (el &
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
01 |22 YRFAH| 114,000 107,000 7,000
OJ12ES1 73,000,000& * 14| 73,000
oJ|aES2 41,000,0003 =14 41,000
02 It RFAH 25,400 24,770 630
© 1001 kA 80,000 x100Q! 8,000
©100€1~3001 Mt A 60,000& x2002! 12,000
©3011~6001 Mt X 45,0002 12021 5,400
04 EN2SYERFAH 5,100 5,100 0
ORN2ILR=2AHI 425,000& « 123 5,100
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